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HR 3 Fer 1 4 | 05 5000 11500 ; 15 80 30 | 1
HR 4 Fer 1 4 | 05 2500 7000 | 30 | 180 54 | 1
HR 5 Fer 1 4 |05 5000 14000 30 | 180 |
HR 6 Fer 2 4 | 125 4500 11500 | 40 280 45 1
HR 7 Fer 2 4 | 125 6200 15000 | 40 240 ‘
HR 8 Fer 2 4 | 125 | l
R 11 B 3 4 | 11 } 5000 12500 50 | 350 4 i 1
U 17 MOG 3 4 |1 2500 7100 30 200 |
vV 21/7000 Tu 4 4 | 095 7000 20 |
v 1913 Maz 3 4 |3 2750 8000 | 125 | 1000 |
V 1920 Maz 3 4 | 21 5800 16500 75 | 600 |
2WI10 A  Maz 3 4 |5 3000 30 | ‘
19 G 3 Maz 2 4 1,4 6500 75 | 375 18
19 H 1 Maz 3 4 |2 15000 75 600 . 2,5 ‘ 0.5
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Equivalents

E 1097 Marc = R11 | U27 Osr = R 11
E 1132 Marc = R 11 YV 1907 Maz = R 11
SU45 Cos = HR4 | 19G6 Maz = HR 4
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